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QUESTION 1

You need to install a cluster with a FAS2720 HA pair and a FAS8300 HA pair. 

Which NetApp tool will verify which cluster interconnect switches support this configuration? 

A. Active IQ Config Advisor 

B. Interoperability Matrix Tool (IMT) 

C. Hardware Universe (HWU) 

D. mysupport.netapp.com site 

Correct Answer: C 

Reference: https://www.netapp.com/media/12424-tr4036.pdf 

 

QUESTION 2

Click the Exhibit button. 

You want to add a FAS2750 HA pair to an existing 6-node cluster. 

Referring to the exhibit, which action would you perform to begin adding the node? 

A. Use the back command to begin the Cluster Setup wizard. 

B. Reboot the node and enter maintenance mode and run the Cluster Setup wizard. 

C. Use the node setup wizard and select 0a as the management interface. 

D. Use the exit or quit commands then run the cluster setup command. 

Correct Answer: C 

Reference: http://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-sag/System%20administration.pdf (35) 
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QUESTION 3

Click the Exhibit button. 

You are installing a new FAS cluster. The management network must be on tagged VLAN 11 for remote administration
by a service provider. Referring to the exhibit, which two ports will allow service provider access to both cluster and
node management LIFs? (Choose two.) 

A. e0M 

B. e0b-11 

C. e0a-11 

D. e0M-11 

Correct Answer: AD 

 

QUESTION 4

Which two SVMs are automatically created during the cluster setup? (Choose two.) 

A. admin SVM 

B. system SVM 
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C. node SVM 

D. data SVM 

Correct Answer: AB 

 

QUESTION 5

You are installing a new AFF A400 cluster and need to access the cluster management LIF from a remote subnet with
the fully qualified domain name (FQDN) a400.lab.netapp.com. In this scenario, which two network components must be
configured to log in to ONTAP System Manager from the remote subnet? (Choose two.) 

A. route 

B. NTP 

C. DNS 

D. VLAN 

Correct Answer: AC 

 

QUESTION 6

Click the Exhibit button. 

Referring to the exhibit, what information is forwarded to syslog after you enter the scripted install commands? (Choose
two.) 

A. command history 

B. EMS messages 

C. AutoSupport messages 

D. SNMP traps 

Correct Answer: AC 

Reference: https://www.netapp.com/media/10674-tr4569.pdf 

 

QUESTION 7

A storage administrator is trying to upgrade a pair of FAS2520s with internal SATA storage to a new 2-node FAS8300
cluster. The storage administrator wants to preserve the existing data. In this scenario, which two capabilities are
available to the storage administrator? (Choose two.) 
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A. the ability to move the volumes from the old nodes to the new nodes 

B. the ability to pull out the tray of internal disks of the FAS2520s and reseat the tray in the internal storage of the
FAS8300s 

C. the ability to create a 4-node MetroCluster across the four nodes 

D. the ability to convert the FAS2520s to disk shelves and attach them to the new nodes 

Correct Answer: CD 

 

QUESTION 8

What are two ONTAP storage efficiency technologies that would be used on an AFF A400 cluster? (Choose two.) 

A. Flash Pool 

B. thin provisioning 

C. FlashCache 

D. FlexClone volumes 

Correct Answer: AC 

 

QUESTION 9

What should you do to change the data protocol of a LIF? 

A. Delete and re-recreate the LIF. 

B. Add the new data protocol to the LIF. 

C. Put the LIF in another broadcast domain. 

D. Shut down the assigned port. 

Correct Answer: A 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID-26EEBB35-4CA6-4814-B819-32DAB46F50E5.html 

 

QUESTION 10

Click the Exhibit button. 
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You are reviewing the setup of a recently installed FAS9000 switched cluster. As shown in the exhibit, the cluster
interconnects are connected to a pair of Cisco Nexus 3132Q-V 40 Gb ports. For a high availability, which ports should
swap Ethernet cables? 

A. Swap node1:e8a and node2:e4a. 

B. Swap node1:e4a and node1:e8a. 

C. Swap node2:e4a and node2:e8a. 

D. Swap node1:e4a and node2:e4b. 

Correct Answer: C 
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